=728 BALL SCREW
R R10/R15 y

Standard Ball Screw Standard Ball Screw
Ball Screw Part # RH R-10-1

Ball Nut Part # RH R-10-2 - — 1.000
Dynamic Load (Ibs) 460

for 1,000,000 (n) 150 300 | =250
Max. Static Load (lbs) 1,300 o L 5 3%30
Ballnut Weight (Ibs) 0.08 ' m © :
Ballscrew Weight (Ibs/ft)  0.31 %

.750 .664-32uns-3a

*Stainless Steel , o . .
Ball bearing nominal diameter 1/16”. Average ball quantity per nut is 62.
Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RH RP-10-1 RP-15-1*
Preload Ballnut Part # RH RP-10-2 RP-15-2* 2975
Dynamic Load (Ibs)**
for 1,000,000 (in) 135 23 250 =
Max. Static Load (lbs)** 1,285 228 o2
Recommended Preload 15 3 MM °
Maximum Preload 45 8 f T
i 750 875
Ballnut Weight (Ibs) 016 016 o32uns.3a
**Based on recommended Preload.
Mounting Flange
Accessories #10-32 SET SCREW 270 = =
Mounting Flange Part #  R-10-3 ' m
Wiper Kit Part # R-10-4

177 THRU (4X) ON 1.240 B.C.D.

(2 brush wipers) Willel' Kit

.750 *‘ ’«—.100

Technical Info:

Bearing Mounts and
Machined Ends page 80-85

Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

Bearing NMount

WANT MORE PRODUCTS? _
R/E S Visit our weh site at =
—
©®/®/® www.rockfordballscrew.com. Technical drawings and = oP—do
information can vary @ @

“, Lo o depending on which o / o
The specifications and data in this publication are Bearing Mount is desired. © ©
deemed to be accurate and reliable and are subject See pages 80-85 for details.
to change without notice.

1-800-475-9532 — www.rockfordhallscrew.com




Bﬂll REw 379 X .125
ml/masc y weren e

Standard Ball Screw Standard Ball Screw
Ball Screw Part # RH R-11-1  R-16-1*
460 1.875 | Ball Nut Part # RH R-11-2 R-16-2*
_ 250 Dynamic Load (lbs

ROOT — T or 1,000,003 (il)l) 300 50

510 ke 7%, &% 360 Max. Static Load (lbs) 2,600 460

j } j Ballnut Weight (Ibs) 0.15 0.15

750 Ballscrew Weight (Ibs/ft) ~ 0.31 0.31

.664-32uns-3a
Ball bearing nominal diameter 1/16”. Average ball quantity per nut is 124.

*Stainless Steel

Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RP-11-1 RP-16-1*
406 ‘ Preload Ballnut Part #  RP-11-2 RP-16-2*
Dynamic Load (Ibs)**
250 k for1,000000n) 270 45
! Max. Static Load (Ibs)** 2,570 455
2 (52 '
MM ¥ Lol Recommended Preload 30 5
" Maximum Preload 90 15
250 J _875J/ 664.32un-38 Ballnut Weight (Ibs) 030 030

**Based on recommended Preload.

#10-32 SET SCREW 270 =] |- Accessories
m ﬁ } Mounting Flange Part#  R-11-3  R-16-3*

H 1.600 Wiper Kit Part # R11-4  R-16-4
Mm ON 1.240 B.C.D.

Wiper Kit

750 .100
1 Technical Info:

Bearing Mounts and
Machined Ends page 80-85

Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?

= Visit our web site at /89S
= oP—0O0 Technical drawings and www.rockfordballscrew.com. @/@/@
@ @ information can vary
\ depending on which
O ©° Bearing Mount is desired. The specifications and data in this publication are
See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




LRI BALL SCREW
R R20/R21 y

Standard Ball Screw Standard Ball Screw
Ball Screw Part # RH R-20-1  R-21-1* 1 750
Ball Nut Part # RH R-20-2 R-21-2* 680 -
Dynamic Load (Ibs) 400 375

for 1,000,000 (in) 850 140 | $ LROOT i
Max. Static Load (Ibs) 4,150 750 == 505
Ballnut Weight (Ibs) 025 025 st T
Ballscrew Weight (Ibs/ft)  0.58 0.58

1.062 .9375-16un-2a
*Stainless Steel _ o _ ,
Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 70.

Preloaded Ball Screw Preloaded Ball Screw

Preload Screw Part # RP-20-1 RP-21-1*
Preload Ballnut Part #  RP-20-2 RP-21-2*

Dynamic Load (Ibs)** %
for 1,000,000 (in) 765 126 375

] ——
Max. Static Load (Ibs)** 4,065 736
Recommended Preload 85 14 MM % ° %
Maximum Preload 255 42 /1 250 %

Ballnut Weight (Ibs) 0.50 0.50 1.062

**Based on recommended Preload.

Accessories

Mounting Flange Part #  R-20-3  R-21-3* 1/4-20 SET SCREW 530 = (=
Wiper Kit Part # R-20-4 R-21-4 .H.

Flange Wiper Cap Part#  R-20-4F  R-21-4F W B 2.600
266 THRU (4X) ON 2.090 B.C.D.

(2 wipers and rear end cap) Willer Kit

440 1.125 1.060 100
Technical Info: i
Bearing Mounts and §\\\\\\\\W’///////%
Machined Ends page 80-85 = 5
Lubrication information  page 15 N
On-line Resources page 3
(configurable CAD drawings and more) »j L 130

WANT MORE PRODUCTS?

R/E S Visit our webh site at =
=
®/®/® \ww.rockiordballscrew.com. Technical drawings and = oP—@o
information can vary @ ©
Th T Lo . depending on which o 7o
e specifications and data in this publication are Bearing Mount is desired. ©
deemed to be accurate and reliable and are subject See pages 80-85 for details. \:ﬁ:J
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREW
R22/R23 ’

DIANIETER LEAD

: 400 }
ROOT 7
800 1/4-28 250 DEEP —/

Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 70.

Standard Ball Screw
R-22-1*
R-22-2*

Ball Screw Part # RH
Ball Nut Part # RH

Dynamic Load (Ibs)
for 1,000,000 (in) 140

Max. Static Load (lbs) 750
Ballnut Weight (Ibs)
Ballscrew Weight (Ibs/ft)

0.30
0.58

*Stainless Steel

Wiper Kit

.532$‘ h 1.3% 975
(_

L
i P

Accessories
Wiper Kit Part #

Technical Info:

Bearing Mounts and
Machined Ends

Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

page 80-85

=

— oP

O

©)

Ol@

Technical drawings and
information can vary
depending on which
Bearing Mount is desired.

©o

©O

See pages 80-85 for details.

www.rockfordballscrew.com

WANT MORE PRODUCTS?

Visit our webh site at B/B/S
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




631 x .200

DIANIETER LEAD

Standard Ball Screw

Ball Screw Part # RH R-30-1
Ball Screw Part # LH R-31-1

Ball Nut Part # RH R-30-2
Ball Nut Part # LH R-31-2

Dynamic Load (Ibs)
for 1,000,000 (in) 825

Max. Static Load (Ibs) 6,250
Ballnut Weight (Ibs) 0.26
Ballscrew Weight (Ibs/ft)  0.83

*Stainless Steel

Preloaded Ball Screw

Preload Screw Part # RH RP-30-1 RP-32-1*
Preload Screw Part # LH RP-31-1

Preload Ballnut Part # RH RP-30-2 RP-32-2*
Preload Nut Part # LH RP-31-2

Dynamic Load (Ibs)**
for 1,000,000 (in) 742 153

Max. Static Load (lbs)** 6,167 1,233
Recommended Preload 83 17
Maximum Preload 249 51

Ballnut Weight (Ibs) 0.52 0.52

**Based on recommended Preload.

Accessories

Mounting Flange Part # RH R-30-3  R-32-3
Mounting Flange Part # LH R-31-3

Wiper Kit Part # RH R-30-4  R-32-4

Flange Wiper Cap Part#  R-30-4F  R-32-4F
R-31-4F

Technical Info:

Bearing Mounts and
Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT NMORE PRODUCTS?
R/E S \isit our webh site at
o0

@ www.rockfordballscrew.com.

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

1-800-475-9532 —

BALL SCREWS e

R30/R31/R32

1.000+SQ. @ 830
1 il B

Standard Ball Screw

.9375-16un-2a

Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 67.

1.000 SQUARE /I 130

Preloaded Ball Screw

R EIDIRRRR
Ot

(%
20%6%

.9375-16un-2a

1/4-20 SET SCREW

M 2.600
.266 THRU (4X) ON 2.090 B.C.D.

i

10
I

o= 135

— = .100

Technical drawings and

information can vary @

depending on which

Bearing Mount is desired.
See pages 80-85 for details.

= b

www.rockfordhallscrew.com

% ol =8 o
9 O




BALL SCREW 631 x .200
R30A ot y -

Standard Ball Screw Standard Ball Screw
| Ball Screw Part # R-30A-1
e 2900 ] 00 Ball Nut Part # R-30A-2
5200 % Dynamic Load (Ibs)
LM 7 D) i for 1,000,000 ((m)) 1,650
Q7 Q7 O 615 Max. Static Load (Ibs 9,000
el B a F Ballnut Weight (Ibs) 0.51

Ballscrew Weight (Ibs/ft)  0.83

1.250 .9375-16un-2a

Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 134.

Preloaded Ball Screw Preloaded Ball Screw
4.900 ‘ Preload Screw Part #  RP-30A-1
- %.500 Preload Ballnut Part #  RP-30A-2
Dynamic Load (Ibs)**

ORas

for 1,000,000 (in) 1,485
Max. Static Load (Ibs)** 8,835
Recommended Preload 165

2

LI

SN E)
R

©Q  _©~° ©
(f,/l(f,/ -

0

(/(’/

1.250 / 1.130 .9375-16un-2 5 T 72,252 o
Ballnut Weight (Ibs) 1.02
**Based on recommended Preload.
Mounting Flange Accessories
1/4-20 SET 530~ |~ Mounting Flange Part #  R-30A-3

Fq f Wiper Kit Part # R-30A-4

2 600 Flange Wiper Cap Part# R-30A-4F
}%M ONZOQOBCD
Wiper Kit

_532$‘ h 1.324 975

L
i P

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?

— Visit our webh site at /8BS
=
— S50 Technical drawings and www.rockfordballscrew.com. @/@/@
@ @ o @ o information can vary
depending on which
O © (©) O Bearing Mount is desired. The specifications and data in this publication are
See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




v pe I BALL SCREW
R R34 y

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-34-1
Ba" Nut Part # R-34-2 875

Dynamic Load (Ibs)
for 1,000,000 (in) 1,900

Max. Static Load (Ibs) 17,800
Ballnut Weight (Ibs) (X]
Ballscrew Weight (Ibs/ft) ~ 1.35

1.125-18unef-2A
Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 168.

Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RP-34-1 ‘ 6.312 ‘
Preload Ballnut Part #  RP-34-2 ‘ ~ k 500
Dynamic Load (Ibs)**

for 1,000,000 (in) 1,710 )
Max. Static Load (bs)** 17,610 °ll'E2

Recommended Preload 190

Maximum Preload 510 1.250 1.375J 1.125-18unef-2a

Ballnut Weight (Ibs) 1.06

*¥Based on recommended Preload.

Accessories NMounting Flange

Mounting Flange Part #  R-34-3 1/4-20 SET 530 = =
Wiper Kit Part # R-34-4 m I

.266 THRU (4X) ON 2.090 B.C.D.

532
- 1.324
Technical Info:

Bearing Mounts and
Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more) 135 —=

1

Bearing NMount
WANT NMORE PRODUCTS? ring lvioun

R/E S Visit our weh site at =
®/®/® \ww.rockiordballscrew.com. . , =
Technical drawings and == of® @ o
information can vary @ @
The specifications and data in this publication are depending on which O ©0

: L ©
deemed to be accurate and reliable and are subject gearlng Mt:;uun;:js 'dezlr:ed_i
to change without notice. &e pages 6%-6y lor detals.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




Bﬂll REw 190 x .200
nas/nsﬁsc y pveren i

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-35-1 R-36-1*
875 " "ﬁiﬂ* 500 Ball Nut Part # R352 R362*
812 -
| ! Dynamic Load (Ibs)
650 ) for 1,000,000 (in) 950 160
ROOT © © 770 .
Max. Static Load (lbs) 8900 1,350
J Ballnut Weight (Ibs) 0.33 0.33
1 250 Ballscrew Weight (Ibs/ft) ~ 1.35 1.35
1.125-18unef-2A
_ o , _ _ *Stainless Steel
Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 84.
Preloaded Ball Screw Preloaded Ball Screw
4.300 Preload Screw Part # RP-35-1 RP-36-1*
— F 500 Preload Ballnut Part #  RP-35-2 RP-36-2*
! Dynamic Load (Ibs)**
o ﬂ@\) o ) for 1,000,000 (in) 855 144
7 Max. Static Load (Ibs)** 8,805 1,334
1 Recommended Preload 95 16
1 250j J1 2 ABunel Maximum Preload 285 48
' 1875 1. 120-18unet2a Ballnut Weight (1bs) 066 066
*¥Based on recommended Preload.
Mounting Flange Accessories
1/4-20 SET SCREW 530 = |= Mounting Flange Part #  R-35-3  R-36-3
m ﬁ } Wiper Kit Part # R354  R-364
H 2.600 Flange Wiper Cap Part#  R-35-4F  R-36-4F
WHR:MX) ON 2.090

Wiper Kit

532+ ’*1'3%'
C W

Technical Info:

Bearing Mounts and
Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

U
.135*‘L

WANT MORE PRODUCTS?

= Visit our webh site at /8BS
—
— PG Technical drawings and www.rockfordballscrew.com. @/@/@
@ @ o @ o information can vary
depending on which
Ole~>1)|OC Bearing Mount is desired. The specifications and data in this publication are
See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




190 x .500

DIANIETER LEAD

BALL SCREW
R37/R38 y

Standard Ball Screw
Ball Screw Part # R-37-1
Ball Nut Part # R-37-2

Dynamic Load (Ibs)
for 1,000,000 (in)

Max. Static Load (Ibs)
Ballnut Weight (Ibs)
Ballscrew Weight (Ibs/ft)

*Stainless Steel

3,400
21,000
0.68

1.35
1.312

1.000
.840

[

.630
ROOT

7T

Standard Ball Screw

2.937 ‘
k.SOO
1

M=

1.250-16un-2a

.760

j

) |

Ball bearing nominal diameter 5/32”. Average ball quantity per nut is 150.

Preloaded Ball Screw

Preload Screw Part # RP35-1 RP36-1* 6,500 |
Preload Ballnut Part #  RP35-2  RP36-2* ' - %_500
D*namic Load (Ilzs)’;* g
or 1,000,000 (in 3,060 540 ) )
Max. Static Load (Ibs)** 20,660 3,840 [MU o |o]|llle— ——
Recommended Preload 340 60

180
1.36

Maximum Preload
Ballnut Weight (Ibs)

1,020
1.36

**Based on recommended Preload.

1.312~/‘ 1.500J 1.250-16un-2a

Accessories

Mounting Flange Part #  R-37-3
Wiper Kit Part # R-37-4
Flange Wiper Cap Part#  R-37-4F

1/4-20 SET SCRE

wW

Mounting Flange

.530 —=

Il

)

k&

.266 THRU (4X) ON 2.090 B.C.D.

1.324

H¢.115

1.245

1N

532
Technical Info:
Bearing Mounts and
Machined Ends page 80-85
Lubrication information ~ page 15
On-line Resources page 3
(configurable CAD drawings and more) 135 ——

|

WANT NMORE PRODUCTS?
R/E S \isit our webh site at
o0

@ www.rockfordballscrew.com.

Technical drawings and
information can vary
depending on which
Bearing Mount is desired.
See pages 80-85 for details.

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

1-800-475-9532 —

www.rockfordhallscrew.com

% ol =Eo
oo el




L S

=—2.347

i B 600 ﬂ

/%}-\71.156 ROOT 7/) | 980
o (P Sl

1.563-18unef-2a

1.150

Ball bearing nominal diameter 5/32". Average ball quantity per nut is 85.

4.875

ﬂ »F.GOO
m2 2
@ ©

b”
©

, A
1.5008QUARE/ 1.630 \—1.563-18unef-23

1/4-20 SET SCREW .630 »{

O

—{|=—.135

y— ® © Technical drawings and

@ @ o o information can vary
o elo depending on which

© Bearing Mount is desired.
\:ﬁﬁ See pages 80-85 for details.

www.rockfordballscrew.com

1.000 x .250

DIAMETER LEAD

Standard Ball Screw

Ball Screw Part # RH R-40-1
Ball Screw Part # LH

Ball Nut Part # RH R-40-2
Ball Nut Part # LH

Dynamic Load (Ibs)
for 1,000,000 (in) 1,625

Max. Static Load (lbs) 13,000
Ballnut Weight (Ibs) (FX]
Ballscrew Weight (Ibs/ft) ~ 2.18

Preloaded Ball Screw

Preload Screw Part # RH RP-40-1
Preload Screw Part # LH

Preload Ballnut Part # RH RP-40-2
Preload Ballnut Part # LH

Dynamic Load (Ibs)**
for 1,000,000 (in) 1,462

Max. Static Load (Ibs)** 12,837
Recommended Preload 163
Maximum Preload 489

Ballnut Weight (Ibs) 1.66

*¥Based on recommended Preload.

Accessories

Mounting Flange Part #  R-40-3  R-41-3
Wiper Kit Part # R-40-4  R-41-4
Flange Wiper Cap Part#  R-40-4F  R-41-4F

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?

Visit our webh site at /8BS
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




1.000 x 250 [T; 00 SCRE‘%

R40A

Standard Ball Screw Standard Ball Screw

Ball Screw Part # R-40A-1 1.150
: |=—3.000

Ball Nut Part # R-40A-2

Dynamic Load (Ibs)

*—‘ .600
for 1,000,000 Gn) 3,250 RN o '

M. Static Load (Ibs) 26,000 1500 « + » @ 1156 ot ﬂm @r’{%r'{/@ 980
Ballnut Weight (Ibs) 112 1 \&/ T 4 T
Ballscrew Weight (Ibs/ft) ~ 2.18 f

1.563-18unef-2a

Ball bearing nominal diameter 5/32”. Average ball quantity per nut is 170.

Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RP-40A-1

6.280 |
Preload Ballnut Part #  RP-40A-2 o 600

Dynamic Load (lbs)**
or 1,000,000 (in) 2925 mﬂm 2D
Max. Static Load (Ibs)** 25,675 O &

Recommended Preload 325 J
Maximum Preload 975 1,500 SQUARE 1.630

Ballnut Weight (Ibs) 2.24

1.563-18unef-2

*¥Based on recommended Preload.

Accessories NMounting Flange

Mounting Flange Part #  R-40A-3 1/4-20 SET SCREW 630 = |=-
Wiper Kit Part # R40A-4 m Fq T
Flange Wiper Cap Part#  R-40-4F 3.235

$&r 1

.266 THRU (4X) ON 2.750 B.C.D.

420 =-1:800
Technical Info: j r -

Bearing Mounts and

Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more) —{|=—.135

=] |=—115

Bearing NMount
WANT NMORE PRODUCTS? ring lvioun

R/E S Visit our weh site at =
—
©®/@®/@® www.rockfordballscrew.com. Tochnical drawings and — P—0o
information can vary @ @
The specifications and data in this publication are depending on which ©

. . Bearing Mount is desired. O,
deemed to be accurate and reliable and are subject .
. ) See pages 80-85 for details.
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCRE@} 1.000 x .250

R40B

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-40B-1
1.150 Ball Nut Part # R-40B-2
Dynamic Load (Ib§)
I & — D) for 1,0(?0,000 (in) 4,500
1.750 1156 poor mj o 67 6 Max. Static Load (Ibs) 39,000
G~~~ ;
! § f = Ballnut Weight (Ibs) 1.92
1.563-18unef-2A Ballscrew Weight (Ibs/ft) ~ 2.18
1.875
Ball bearing nominal diameter 5/32". Average ball quantity per nut is 255.
Preloaded Ball Screw Preloaded Ball Screw
8.750 ‘ Preload Screw Part #  RP-40B-1
~ Fsoo Preload Ballnut Part #  RP-40B-2
Dynamic Load (Ibs)**
— DD =222 for 1,000,000 (in) 4,050
T sl | e e Max. Statc Load (bs}** 38,550

1.875 </ 1.630

Recommended Preload 450
Maximum Preload 1,350
1.563-18unef-2a Ballnut Weight (Ibs) 3.84

**Based on recommended Preload.

Accessories
1/4-20 SET SCREW 630 =] |=-

' Mounting Flange Part #  R-40B-3
m Fq f Wiper Kit Part # R-40B-4
3.235

Flange Wiper Cap Part# R-40B-4F

.266 THRU (4X) ON 2.750 B.C.D.

Wiper Kit
1.475 »‘ %.100

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?
Visit our web site at B/ 8B/S

 —
= OO Technical drawings and www.rockfordballscrew.com. @/@/@
@ @ O @ O information can vary
depending on which
Ol ©O i i i The specifications and data in this publication are
Bearing Mount is desired.
See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




TP BALL SCRE‘%

R40ORF/RAILF

Standard Ball Screw Standard Ball Screw

Ball Screw Part # R-40RF-1 1110

Ball Nut Part # R-40RF-2

Dynamic Load (Ibs) I ] N
for 1,000,000 (in) 3,250 2.750 gﬁmm D2

Max. Static Load (lbs) 26,000 ROOT m 980

Ballnut Weight (Ibs) 1.54 b | f

Ballscrew Weight (Ibs/ft) ~ 2.18 281 THRU (4X) ON 2.250 — Fégg(s)

Ball bearing nominal diameter 5/32”. Average ball quantity per nut is 170.

Standard Ball Screw

Ball Screw Part # R-41LF-1
Ball Nut Part # R-41LF-2

Dynamic Load (Ibs)
for 1,000,000 (in) 3,250

Max. Static Load (Ibs) 26,000
Ballnut Weight (Ibs) 1.54
Ballscrew Weight (Ibs/ft) ~ 2.18

Accessories
Wiper Kit Part # R-40B-4

Wiper Kit
1475 —~  |=—.100

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

Bearing NMount
WANT NMORE PRODUCTS? ring lvioun

R/E S Visit our web site at =
—
©®/@®/@® www.rockfordballscrew.com. Teshnical drawings and = P00
information can vary @ @
The specifications and data in this publication are depending on which O ©10

; N ©
deemed to be accurate and reliable and are subject Bearing Mount is deS|req.
. ) See pages 80-85 for details.
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREWS e

Standard Ball Screw - RZORF

»‘ .625

ﬂ[ - ]
1.030 870 ol 1.020
T T \%@_mﬁ

1.563-18unef-2a

1.687

Ball bearing nominal diameter 5/32". Average ball quantity per nut is 178.

‘ 6.875

— F.st

-

M—,@—/@ ”—/@%
[ o~ B\l e ||l[e” o~
| |lieere—

&

1.687/ 1.812 1.563-18unef-2a

1/4-20 SET SCREW

630»{
2N

l\)
[&)]

.266 THRU (4

X) ON 2.750 B.C.D.

Wiper Kit

8
=

=
S
o

S 1 4
A

i

o o O

Technical drawings and
information can vary
depending on which
Bearing Mount is desired.
See pages 80-85 for details.

www.rockfordballscrew.com

1.000 x .250

DIAMETER LEAD

Standard Ball Screw
Ball Screw Part # R-42-1
Ball Nut Part # R-42-2

Dynamic Load (Ibs)
for 1,000,000 (in) 3,450

Max. Static Load (lbs) 30,000
Ballnut Weight (Ibs) 1.06
Ballscrew Weight (Ibs/ft) ~ 2.40

Preloaded Ball Screw

Preload Screw Part # RP-42-1
Preload Ballnut Part #  RP-42-2

Dynamic Load (Ibs)**
for 1,000,000 (in) 3,105

Max. Static Load (Ibs)** 29,655
Recommended Preload 345
Maximum Preload 1,035

Ballnut Weight (Ibs) 212

*¥Based on recommended Preload.

Accessories

Mounting Flange Part #  R-42-3
Wiper Kit Part # R-42-4
Flange Wiper Cap Part#  R-42-4F

Technical Info:

Bearing Mounts and
Machined Ends

Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

page 80-85

WANT MORE PRODUCTS?

Visit our webh site at /8BS
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




DIAMETER LEAD

Standard Ball Screw
Ball Screw Part # R-43-1
Ball Nut Part # R-43-2

Dynamic Load (Ibs)
for 1,000,000 (in)

Max. Static Load (Ibs)
Ballnut Weight (Ibs)
Ballscrew Weight (Ibs/ft)

4,250
30,000
1.06
24

Preloaded Ball Screw

Preload Screw Part # RP-43-1
Preload Ballnut Part #  RP-43-2

Dynamic Load (Ibs)**
for 1,000,000 (in)

Max. Static Load (Ibs)**
Recommended Preload

3,825
29,575
425
1,275
212

Maximum Preload
Ballnut Weight (Ibs)

*¥Based on recommended Preload.

Accessories

Mounting Flange Part #  R-43-3
Wiper Kit Part # R-43-4
Flange Wiper Cap Part#  R-43-4F

Technical Info:
Bearing Mounts and
Machined Ends

Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

page 80-85

WANT NMORE PRODUCTS?
l.?/E S \isit our webh site at

@ www.rockfordballscrew.com.

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

1-800-475-9532 —

BALL SCREW
R43 y

1.687

Standard Ball Screw

3.125 ‘

-

.870 =)
rooT ||| e o
=

1.010

T

1.563-18unef-2a

Ball bearing nominal diameter 5/32". Average ball quantity per nut is 186.

6.650

- F.azs
=)

=
1.687J1.812J 1.563-18unef-2a

1/4-20 SET SCREW

7S

Mounting Flange

.630 ’{

3 235

.266 THRU (4X) ON 2.750 B.C.D.

»{ }«.100

Technical drawings and

information can vary
depending on which

Bearing Mount is desired.
See pages 80-85 for details.

www.rockfordhallscrew.com

ol ,=Yo
OO




BALL SCREW 1.000 x 1.000
BALL SCREWSee  Recchibc:

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-44-1
Ball Nut Part # R-44-2

1.150 : -
600 ﬂ Dynamic Load (Ibs)
| R}

for 1,000,000 (in) 2,300

| ) :
. @ 1316 240 BU ,/’) ﬂ 970 Max. Static Load (Ibs) 11,500
1 \\ / 1 r C/ Ballnut Weight (Ibs) 1.12

Ballscrew Weight (Ibs/ft) ~ 2.17
Ball bearing nominal diameter 5/32”. Average ball quantity per nut is 98.

1.563-18unef-2a

Preloaded Ball Screw Preloaded Ball Screw
6.250 | Preload Screw Part # RP-44-1
— F 600 Preload Ballnut Part #  RP-44-2
[ ] Dynamic Load (Ibs)**
=) for 1,000,000 (in) 2,070

Max. Static Load (Ibs)** 11,270

e\\®

IEP]
E1o) &

Recommended Preload 230
J / / Maximum Preload 690
1.500 SQUARE 1.630 1.563-18unef-2 Ballnut Weight (Ibs) 2.24

**Based on recommended Preload.

Accessories
1/4-20 SET SCREW 630 H Mounting Flange Part #  R-44-3
m Wiper Kit Part # R44-4
3 235 Flange Wiper Cap Part#  R-44-4F

Wiper Kit
420 ¢1T-$g0*
‘T r 1.475 H }*.1 15 Technical Info:
Bearing Mounts and
£ 2 Machined Ends page 80-85
%//////III\\\\\\\\\% Lubrication information  page 15
On-line Resources page 3
| |=—.135 (configurable CAD drawings and more)

Bearing Mount
WANT NMORE PRODUCTS?

8=

= Uisit our weh site at 9/85/S
= OO Technical drawings and www.rockfordballscrew.com. @/@/@
© © O O information can vary
depending on which
Cl@~>@©° Bearing Mount is desired. The specifications and data in this publication are
\:ﬁ:J See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




JURETN BALL SCREWS ey

R45/R46/R4T

Standard Ball Screw Standard Ball Screw

Ball Screw Part # RH R-45-1
Ball Screw Part # LH R-47-1 - 1.150

Ball Nut Part # RH R-45-2 ﬁ 475
d t'] .45-
U L 4{

Ball Nut Part # LH R-47-2 <

2.500

- I 20 774774
ynamic Load (Ibs 1.312 - o/ /o/ /d 1.125
for 1,000,000 (in) 2,450 ' i\ 77
Max. Static Load (Ibs) 24,500
Ballnut Weight (Ibs) 0.81 1.687 1.625-20uns-2a
Ballscrew weight (le/fl) 3‘10 Ball bearing nominal diameter 1/8”. Average ball quantity per nut is 244,
een:

Stainless Steel Preloaded Ball Screw
Preloaded Ball Screw 5990 |

ﬂ 475

Preload Screw Part # RP-45-1 RP-46-1*
Preload Screw Part # RP-47-1 /)W) D 1)
Preload Ballnut Part #  RP-45-2  RP-46-2* m °
Preload Ballnut Part #  RP-47-2 v g v

Dynamic Load (Ibs)** j J
for 1,000,000 (in) 2205 2,205 1687/ 1.812 1.625-20uns-2a

Max. Static Load (Ibs)** 24,255 24,255
Recommended Preload 245 49
Maximum Preload 735 145

Ballnut Weight (Ibs) 1.62 1.62

Mnunting Flange
**Based on recommended Preload. 1/4-20 SET SCRE% 490 %
Accessories {E| 3.200
Mounting Flange Part #  R-47-3  R-46-3* H i

Wiper Kit Part # R47-4  R-46-4* 266 THRU (4X) ON 2.702 B.C.D.
Flange Wiper Cap Part#  R-45-4F  R-46-4F

540 r—— 1.760 1.500
Technical Info: W A —~| =100
Bearing Mounts and / N
Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more) *‘ ~—.130

WANT MORE PRODUCTS?

R/E S Visit our weh site at =
 —
©®/®/@® vww.rockfordballscrew.com. Technical drawings and — P00
information can vary @ @
The specifications and data in this publication are depending on which Ole~1©)|O
. . Bearing Mount is desired.
deemed to be accurate and reliable and are subject .
. . See pages 80-85 for details.
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREWS e

3.125 ‘

—1.200 — F 625
7 =) !
1.062 I 1.060
& !
b o2
ROOT

1.687

Ball bearing nominal diameter 5/32". Average ball quantity per nut is 154.

1.563-18unef-2a

6.750 |

—- F .625

© ///)@%o
(=

@ /ﬁ&
=

1.687J 1.812 J 1.563-18unef-2

1/4-20 SET SCREW

.630 »{

Wiper Kit

© O

o

® o Technica'l drawings and
information can vary

depending on which

© O Bearing Mount is desired.

See pages 80-85 for details.

www.rockfordballscrew.com

1.063 x .625

DIAMETER LEAD

Standard Ball Screw
Ball Screw Part # R-48-1
Ball Nut Part # R-48-2

Dynamic Load (Ibs)
for 1,000,000 (in) 3,300

Max. Static Load (Ibs) 21,000

Ballnut Weight (Ibs) 1.06
Ballscrew Weight (Ibs/ft) ~ 2.85

Preloaded Ball Screw

Preload Screw Part # RP-48-1
Preload Ballnut Part #  RP-48-2

Dynamic Load (Ibs)**
for 1,000,000 (in) 2,970

Max. Static Load (Ibs)** 20,670
Recommended Preload 330
Maximum Preload 990

Ballnut Weight (Ibs) 212

**Based on recommended Preload.

Accessories

Mounting Flange Part #  R-48-3
Wiper Kit Part # R-48-4
Flange Wiper Cap Part#  R-48-4F

Technical Info:

Bearing Mounts and
Machined Ends

Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

page 80-85

WANT MORE PRODUCTS?

Visit our webh site at /8BS
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




EPETE BALL SCREW

Standard Ball Screw Standard Ball Screw

Ball Screw Part # R-50-1 4.687 ‘
Ball Nut Part # R-50-2 N % o
’4— .520
) o

Dynamic Load (Ibs)
for 1,000,000 (in) 9,050 P
Mh@ o /0| 1.530
N7\
o

Max. Static Load (Ibs) 55,000
Ballnut Weight (Ibs) 418
Ballscrew Weight (Ibs/ft)  5.34

2.548-18uns-3a

Ball bearing nominal diameter 5/16”. Average ball quantity per nut is 102.

Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RP-50-1 f.~——————————10.225
Preload Ballnut Part #  RP-50-2 —] F 750
Dynamic Load (Ibs)** -

for 1,000,000 (in) 8,145 mm[ l(‘; M . l(‘; M
Max. Static Load (Ibs)** 54,095 K~

Recommended Preload 905 "

Maximum Preload 2,115 2625 J 2.812 J 2.548-18uns-3a

Ballnut Weight (Ibs) 8.36

*¥Based on recommended Preload.

Accessories NMounting Flange

Mounting Flange Part #  R-50-3 80— =
Wiper Kit Part # R-50-4 /z/ \S\
H 4.937

.531 THRU (4X) ON 4.062

Wiper Kit
2.250
Technical Info: :
. I
Bearing Mounts and SNAP RING
Machined Ends page 80-85 2.625 2} GROOVE
Lubrication information ~ page 15 <
On-line Resources page 3 a 160
(configurable CAD drawings and more) WIPER
Bearing NMount
WANT NMORE PRODUCTS?
R/B/S \isit our webh site at =
®/@®/® vww.rockfordballscrew.com E
) R Technical drawings and == of.=Eo
information can vary @ @
T Lo - depending on which o o
The specifications and data in this publication are - - . © ©
. . Bearing Mount is desired.
deemed to be accurate and reliable and are subject .
. . See pages 80-85 for details.
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCR

RO0OA/RO1A

Em}

1/8-27
—1.930 NPT LUBE

N

DIAMETER

LEAD

Standard Ball Screw

Ball Screw Part # RH
Ball Screw Part # LH

Ball Nut Part # RH
Ball Nut Part # LH

R-50A-1

R-51A-1
R-50A-2

R-51A-2

)
1.260
1.630
ROOT W (&~

}7

Dynamic Load (Ibs)
for 1,000,000 (in) 12,900 12,900

Max. Static Load (lbs) 94,000 94,000
Ballnut Weight (Ibs) 4.99 4,99
Ballscrew Weight (Ibs/ft)  5.34 5.34

2.360-18uns-3a
2.625

Ball bearing nominal diameter 5/16”. Average ball quantity per nut is 140.

Preloaded Ball Screw Preloaded Ball Screw

Preload Screw Part # RH RP-50A-1
Preload Screw Part # LH

12.000 |

RP-51A-1

S N ° Preload Ballnut Part # RH RP-50A-2
4 © @ ‘ Preload Ballnut Part # LH RP-51A-2
© © ©| o © o &

Dynamic Load (Ibs)**
for 1,000,000 (in) 1,610 11,610

Max. Static Load (Ibs)** 92,710 92,710
Recommended Preload 1,290 1,290
Maximum Preload 3,870 3,870

Ballnut Weight (Ibs) 9,98 9.98

2.625J 2.812 J 2.360-18uns-3a

—T **Based on recommended Preload.

4.937 Accessories

M Mounting Flange Part #  R-50A-3

Wiper Kit Part # R-50A-4
531 THRU (4X) ON 4.062 B.C.D.

Wiper Kit

2.000

Technical Info:
Bearing Mounts and

B

1 ;
SNAP RING
2.625 A GROOVE

Machined Ends

Lubrication information

On-line Resources

page 80-85
page 15
page 3

WiISER (configurable CAD drawings and more)
Bearing Mount
WANT MORE PRODUCTS?
= Visit our web site at /8BS
—
— 0o Technical drawings and www.rockfordballscrew.com. @/@/@

information can vary
depending on which

© O Bearing Mount is desired.
See pages 80-85 for details.

o 9 H©

= &

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




1.500 x 250 J{i[N1 SCRE‘%

Ro3/Ro4

Standard Ball Screw Standard Ball Screw
Ball Screw Part # LH R-53-1 1.350 - 3000
Ball Screw Part # RH ' +{ 500
Ball Nut Part # LH R-53-2 i
Ball Nut Part #(RH) 1 - QA é& - Eo
Dynamic Load (|bs : ROOT S :

for 1,000,000 (in) 4,250 T N NI 1
Max. Static Load (Ibs) 44,800
Ballnut Weight (Ibs) 123 5093 1.967-18uns-3A
Ballscrew Weight (|bs/fl) 5.60 Ball bearing nominal diameter 5/32”. Average ball quantity per nut is 260.
Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # LH  RP-53-1 6.780 |
Preload Screw Part # RH . ] % 500
Preload Ballnut Part # LH RP-53-2 I \ .
Preload Ballnut Part # RH QA QL

. R\ e\ \g| o] [[ll XN\ @]

Dynamic Load (Ibs)** NN NN

for 1,000,000 (in) 3,825 | | ) |
Max. Static Load (Ibs)** 44,375 J J

Recommended Preload 425 2.093 —/ 2.313 1.967-18uns-3a

Maximum Preload 1,275

linut Weight (I 2. .
Ballnut Weight (Ibs) 46 Mounting Flange
**Based on recommended Preload. S0
Accessories /a/ \&\ H
Mounting Flange Part #  R-53-3  R-54-3 4.360
Wiper Kit Part # R-53-4 R-54-4 H
Flange Wiper Cap Part#  R-53-4F  R-54-4F -

.397 THRU (4X) ON 3.440 B.C.D.

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?

R/E S Visit our web site at =
—
©®/@®/@® www.rockfordballscrew.com. Technical drawings and = =00
information can vary @ @
The specifications and data in this publication are depending on which O ©®0

. L ©
deemed to be accurate and reliable and are subject Bearing Mount is des"et!.
. ) See pages 80-85 for details.
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCRE@} 1.500 x .250

RO4A

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-54A-1
13650 =400 Ball Nut Part # R-54A-2
»{ 500 .
| Dggnamlc Load (Ilz;))
I > D D T or 1,000,000 (in 6,400
1380 RS :@r'{/@r'{/ey'{/e 1,510 Max. Static Load (Ibs) 67,200
J 1 T g g < 1 Ballnut Weight (Ibs) 1.64
Ballscrew Weight (Ibs/ft)  5.60
1.967-18uns-3a
2.093
Ball bearing nominal diameter 5/32". Average ball quantity per nut is 390.
Preloaded Ball Screw Preloaded Ball Screw
8.750 ‘ Preload Screw Part#  RP-54A-1
500 ﬂ % Preload Ballnut Part #  RP-54A-2
D*namic Load (Ilzs)’;*
2 0 D or 1,000,000 (in 5,760
1@"{/@"{/@"{/@ Max. Static Load (Ibs)** 66,560
g o &
. Recommended Preload 640

j J Maximum Preload 1,920
2.093 2.313 —/ 1.967-18uns-3a Ballnut Weight (Ibs) 3.28

**Based on recommended Preload.

Mounting Flange Accessories

S0~ =— Mounting Flange Part #  R-54A-3
/a’ \S\ Wiper Kit Part # R-54A-4
H 4.360 Flange Wiper Cap Part# R-54A-4F

.397 THRU (4X) ON 3.440 B.C.D.

Wiper Kit

2.160 e )
Technical Info:

Bearing Mounts and
Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

130 —

WANT MORE PRODUCTS?

— Visit our webh site at /8BS
=
— S50 Technical drawings and www.rockfordballscrew.com. @/@/@
@ @ o @ o information can vary
depending on which
Ole~>*©)I° Bearing Mount is desired. The specifications and data in this publication are
See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




DIAMETER LEAD

Standard Ball Screw

Ball Screw Part # RH R-55-1
Ball Screw Part # LH

Ball Nut Part # RH R-55-2
Ball Nut Part # LH

Dynamic Load (Ibs)
for 1,000,000 (in) 8,000

Max. Static Load (lbs) 34,500
Ballnut Weight (Ibs) 2.64
Ballscrew Weight (Ibs/ft) ~ 4.52

Preloaded Ball Screw
Preload Screw Part # RP-55-1
Preload Screw Part #

Preload Ballnut Part #  RP-55-2
Preload Ballnut Part #

Dynamic Load (Ibs)**
for 1,000,000 (in) 7,200

Max. Static Load (Ibs)** 33,700
Recommended Preload 800
Maximum Preload 2,400

Ballnut Weight (Ibs) 5.28

*¥Based on recommended Preload.

Accessories

Mounting Flange Part #  R-55-3  R-56-3
Wiper Kit Part # R-55-4  R-56-4
Flange Wiper Cap Part#  R-20-4F  R-21-4F

Technical Info:

Bearing Mounts and
Machined Ends page 80-85
Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT NMORE PRODUCTS?
l.?/E S \isit our webh site at

@ www.rockfordballscrew.com.

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

1-800-475-9532 —

BALL SCREUW
R55/R96 y

Standard Ball Screw

3.750

1.000 ﬁ l.—
T N 1
séﬁggE 1.780 ké%(% & © © ﬁ 1.480

2.250-20un-2a

2.625

Ball bearing nominal diameter 11/32”. Average ball quantity per nut is 64.

8.250

A

2.812 2.250-20uns-2a

=) -

—
I

2.250 SQUARE

Mounting Flange

1.02—— = -
@ 4.937

.531 THRU (4X) ON 4.125 B.C.D.

\s\

(2 wipers & 2 snap rings) Willel‘ Kit

2.000
SNAP RING
GROOVE
2.250 ; EQ
WIPER

NI

Technical drawings and 0] O Ce)

information can vary
depending on which @ @ '®)

O
Bearing Mount is desired. ©_©
See pages 80-85 for details.

www.rockfordhallscrew.com




BALL SCREW 1.500 x 4737
BALL SCREWSe  Recchl:

Standard Ball Screw Standard Ball Screw

1613 PP Ball Screw Part # R-57-1

' ' Ball Nut Part # R-57-2

— 875 _
| Dynamic Load (Ibs)

i for 1,000,000 (in) 10,050
1.977 m o~ O @ 1.470 Max. Static Load (Ibs) 57,700

J 1 T T Ballnut Weight (Ibs) 3.80

1.140 Ballscrew Weight (Ibs/ft) ~ 4.56

2.625 ROOT 2.548-18uns-3a

Ball bearing nominal diameter 11/32”. Average ball quantity per nut is 86.

Preloaded Ball Screw Preloaded Ball Screw
9687 ‘ Preload Screw Part#  RP-57-1
| F 875 Preload Ballnut Part #  RP-57-2
Dynamic Load (Ibs)**

mﬂﬂ[ | M | M for 1,000,000 (in) 7,200
o /9 Ol el Y 2 Max. Static Load (Ibs)** 33,700

M Recommended Preload 800

J J Maximum Preload 2,400

**Based on recommended Preload.

Accessories

80— | Mounting Flange Part #  R-57-3
m Wiper Kit Part # R-57-4
4.937

i

.531 THRU (4X) ON 4.062 B.C.D.

Wiper Kit
2.000
H — Technical Info:
SNAP RING Bearing Mounts and
2.625 © Machined Ends page 80-85
< Lubrication information  page 15
- 160 On-line Resources page 3
WIPER (configurable CAD drawings and more)
Bearing Mount
. WANT NMORE PRODUCTS?
= Visit our webh site at 9/85/S
— . .
= ) Technical drawings and www.rockfordballscrew.com. @/@/@
O 'e) h .
/ information can vary
@ @ o o depending on which
© / Bearing Mount is desired. The specifications and data in this publication are
See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




1.900 x 1.875

DIAMETER LEAD

Standard Ball Screw
Ball Screw Part # R-58-1
Ball Nut Part # R-58-2

Dynamic Load (Ibs)
for 1,000,000 (in)

Max. Static Load (Ibs)
Ballnut Weight (Ibs)
Ballscrew Weight (Ibs/ft)

7,350
30,000
3.90
4.83

Preload Screw Part # RP-58-1
Preload Ballnut Part #  RP-58-2

Dynamic Load (Ibs)**
for 1,000,000 (in)

Max. Static Load (Ibs)**

6,615
29,265

Recommended Preload 735
Maximum Preload
Ballnut Weight (Ibs)

2,205
1.80

*¥Based on recommended Preload.

Accessories

Mounting Flange Part #
Wiper Kit Part #

R-58-3
R-58-4

Technical Info:

Bearing Mounts and
Machined Ends

Lubrication information ~ page 15

On-line Resources page 3
(configurable CAD drawings and more)

page 80-85

WANT NMORE PRODUCTS?
R/E S \isit our webh site at
o0

@ www.rockfordballscrew.com.

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

1-800-475-9532 —

BALL SCREW
R58 y

2.250 1.700
SQUARE
1.630
2.625

Standard Ball Screw

=—-5.345

1.000 »{
NWESS
==X

2.250-20un-2a

1

1.190
ROOT

Ball bearing nominal diameter 9/32". Average ball quantity per nut is 90.

1

1.475

j

N

2.250 SQUARE </ 2.812j

2.250-20un-2a

Mounting Flange

PR

.531 THRU (4X) ON 4.125 B.C.D.

1.020 — L

4.937

5

Wiper Kit
2.000
|
( ; } SNAP RING
2250 /o GROOVE
; ] 160
WIPER
Bearing NMount
=
—
=
Technical drawings and = olP.xEo

information can vary
depending on which
Bearing Mount is desired.
See pages 80-85 for details.

www.rockfordhallscrew.com

Ol

©O




BALL SCREW 2.000 x 1.000
BALL SCREWSe i

Standard Ball Screw Standard Ball Screw
6.625 Ball Screw Part # R-61-1
2.300 1827 | 500 Ball Nut Part # R-61-2
Jl ~—1.500 Dynamic Load (Ib§)
TR ol S
T ! Ballout Weight (bs) 790

Ballscrew Weight (Ibs/ft) ~ 9.30

3.250 3.000-12un-2a

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 160.

Preload Screw Part # RP-61-1
Preload Ballnut Part #  RP-61-2

Dynamic Load (Ibs)**
for 1,000,000 (in) 20,250

Max. Static Load (Ibs)** 127,750
Recommended Preload 2,250
Maximum Preload 6,750

Ballnut Weight (Ibs) 15.8

14.125

**Based on recommended Preload.

Mounting Flange Accessories

1531
. Mounting Flange Part #  R-61-3
Wiper Kit Part # R-61-4

‘ | 5.360

.656 THRU (8X) ON 4.250 B.C.D.

Wiper Kit
2.690
T4 Technical Info:
5.950 / RS Bearing Mounts and
' Machined Ends page 80-85
Lubrication information  page 15
] 160 On-line Resources page 3
WIPER (configurable CAD drawings and more)
Bearing Mount
WANT MORE PRODUCTS?
= Visit our weh site at F/5/S
— PO Technical drawings and www.rockfordballscrew.com. @/@/@

‘ O information can vary

©) \
@ @ depending on which
Ol ®° Bearing Mount is desired. The specifications and data in this publication are
T See pages 80-85 for details. deemed to be accurate and reliable and are subject

to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




X P BALLSCREW
B Ro2 y

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-62-1 e 6.375

Ball Nut Part # R-62-2 1/8-27 NPT \500*

Dynamic Load (Ibs)
for 1,000,000 (in) 18,000
),
o
* 3.000-12un-2a

Max. Static Load (Ibs) 130,000
Ballnut Weight (Ibs) 8.15
Ballscrew Weight (Ibs/ft)  9.36

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 152.

Preload Screw Part # RP-62-1
14.125 w
— F 1.500

Preload Ballnut Part #  RP-62-2

Dynamic Load (Ibs)** |
for 1,000,000 (in) 16,200 ° N N oS,
Max. Static Load (Ibs)** 128,200 m ° I ©
Recommended Preload 1,300 a

Maximum Preload 5,400
Ballnut Weight (Ibs) 16.30 3.250

—

3.750 </ 3.000-12un-2a

Accessories NMounting Flange
1.531 »‘ L,

Mounting Flange Part #  R-62-3
Wiper Kit Part # R-62-4 6 450

.656 THRU (8X) ON 4.250 B.C.D.

*¥Based on recommended Preload.

Wiper Kit
2.690
Technical Info: I
. SNAP RING
Bearing Mounts and 3.950 /- GROOVE
Machined Ends page 80-85 ' d
Lubrication information ~ page 15
On-line Resources page 3 ' .160
(configurable CAD drawings and more) WIPER
Bearing NMount

WANT MORE PRODUCTS?

== = (o=
R/E S \isit our weh site at =

—
©®/@®/@® www.rockfordballscrew.com. Technical drawings and — P—0o
information can vary @ @
_ Lo - depending on which o o
The specifications and data in this publication are ] - . © ©
. . Bearing Mount is desired.
deemed to be accurate and reliable and are subject .
. . See pages 80-85 for details.

to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREW
nﬁn/missc y

6.680
1/8-27 NPT 500
— 1.562
2.275
1.860
2.630 Ro0T “ 2.185

1 [ f

3.137-12uns-3a

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 154.

14.250 ‘
»‘ F 1.562

AR [E 2R

3.375</ 4.000J 3.137-12uns-3a

1.582»1 r*
@ 5.360
.656 THRU (6X) ON 4.375 B.C.D.
Wiper Kit
2.815

I ;
SNAP RING
GROOVE
3.375 72\
\ ] 160

WIPER

=

1

y— ® © Technical drawings and

O O information can vary
o 9 [

d di hich
o epending on whic

© Bearing Mount is desired.
\:ﬁﬁ See pages 80-85 for details.

www.rockfordballscrew.com

2.2590 x .500

DIAMETER LEAD

Standard Ball Screw

Ball Screw Part # RH R-60-1
Ball Screw Part # LH R-63-1

Ball Nut Part # RH R-60-2
Ball Nut Part # LH R-63-2

Dynamic Load (Ibs)
for 1,000,000 (in) 19,800 19,800

Max. Static Load (Ibs) 142,500 142,500
Ballnut Weight (Ibs) 8.25 8.25
Ballscrew Weight (Ibs/ft) 1092 1092

Preloaded Ball Screw
Preload Screw Part # RH RP-60-1
Preload Screw Part # LH RP-63-1

Preload Ballnut Part # RH RP-60-2
Preload Ballnut Part # LH RP-63-2

Dynamic Load (Ibs)**
for 1,000,000 (in) 17,820 17,820

Max. Static Load (Ibs)** 140,520 140,520
Recommended Preload 1,980 1,980
Maximum Preload 5,940 5,940

Ballnut Weight (Ibs) 1650  16.50

*¥Based on recommended Preload.

Accessories

Mounting Flange Part #  R-60-3
Wiper Kit Part # R-60-4

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?

Visit our webh site at /8BS
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




2.250 x 500 [i{;[01 SCRE}!»’

RGOA

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-60A-1 |
Ball Nut Part # R-60A-2 1/8-27 NPT 8.750
Dynamic Load (Ibs) 0 975 — h 520 1.962
for 1,000,000 (in) 29,700 ' | ﬁ J
Max. Static Load (Ibs) 213,000 1360
Ballnut Weight (Ibs) 11.22 2630 ROOT \K Yy, ° 2.185
Ballscrew Weight (Ibs/ft)  11.30 % f
3.375 3.137-12uns-3a T
Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 237.
Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part#  RP-60A-1 16.500 |
Preload Ballnut Part #  RP-60A-2 ' P
Dynamic Load (Ibs)** - — 1.562
for 1,000,000 (in) 26,730 o
Max. Static Load (Ibs)** 210,030 & 99 /9 /0| o
Recommended Preload 2,970 | 1
Maximum Preload 8,910 J /
Ballnut Weight (Ibs) 22,60 3.375 4.000 3.137-12uns-3a
**Based on recommended Preload.
Accessories Mounting Flange
Mounting Flange Part #  R-60A-3 1982+ —
Wiper Kit Part # R-60A-4
5.360
.656 THRU (6X) ON 4.375 B.C.D.
Wiper Kit
2.815
;echn:l:al Inm(:j @ I @RING
earing Mounts an
Machined Ends page 80-85 3.375 © GROOVE
Lubrication information ~ page 15 (
On-line Resources page 3 - 160
(configurable CAD drawings and more) WIPER
Bearing NMount
WANT NMORE PRODUCTS?
R/E S Visit our weh site at =
®/®/® \ww.rockfordballscrew.com. Technical drawings and = SP—0o
information can vary @ @
Th I L o depending on which o 0o
e specifications and data in this publication are Bearing Mount is desired © ©
deemed to be accurate and reliable and are subject See nages 80-85 for d etaiis
to change without notice. pag .

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREW 2.500 x .500
BALL SCREWSe Rl

Standard Ball Screw Standard Ball Screw
1827 NPT 6.750 Ball Screw Part # R-70-1
] Ball Nut Part # R-70-2
~—1.750 Dynamic Load (Ibs)
» X — for 1,000,000 22,000
38 & 2.540 Max. Statlc. Load (Ibf) 155,500
2220 A Ballnut Weight (Ibs) 12.09

Ballscrew Weight (Ibs/ft)  14.98

3.625-12un-2a

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 186.

Preloaded Ball Screw

Preloaded Ball Screw Preload Screw Part#  RP-70-1

| 14.760 Preload Ballnut Part #  RP-70-2
‘ el 1.750 Dynamic Load (Ibs)*
° T for 1,000,000 (in) 19,800
&| 5 %@ o Max. Static Load (Ibs) 152,800
c c— Recommended Preload 2,200
¥ Maximum Preload 6,600
. J J Ballnut Weight (Ibs) 24.18
4.000 4.250 3.625-12un-2a
**Based on recommended Preload.
Mounting Flange Accessories

f Mounting Flange Part #  R-70-3

j’ ke i pal Wiper Kit Part # R-70-4

.656 THRU (8X) ON 5.000B.C.D.

Wiper Kit

3.255
I Technical Info:
@ SNAP RING Bearing Mounts and
4.000 e GROOVE Machined Ends page 80-85
& Lubrication information  page 15
- On-line Resources page 3

WIRER (configurable CAD drawings and more)

Bearing Mount
WANT NMORE PRODUCTS?

Visit our weh site at R/ B/S
© 5 Technical drawings and www.rockfordballscrew.com. @/@/@
‘6H

N,

information can vary
depending on which

Ce~©) Bearing Mount is desired. The specifications and data in this publication are
\:ﬁ:‘ See pages 80-85 for details. deemed to be accurate and reliable and are subject

to change without notice.

www.rockfordballscrew.com —==m {1 || J/y T Lk ]




AT PENT BALLSCREW
BN R71 y

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-71-1 6750
Ball Nut Part # R-71-2 2670/ AN '
Dynamic Load (Ibs) -~ 1.750
for 1,000,000 (in) 26,500 -

Max. Static Load (Ibs) 155,000 2438 o h
Ballnut Weight (Ibs) 12.26 X W
Ballscrew Weight (Ibs/ft)  14.95 253

L 4.000 3.625-12un-2a

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 194.

Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part#  RP-71-1 w 14.760
Preload Ballnut Part #  RP-71-2 ‘ ==l 1.750

Dynamic Load (Ibs)**
for 1,000,000 (in) 23,850

Max. Static Load (Ibs)** 152,350
Recommended Preload 2,650
Maximum Preload 7,950

Ballnut Weight (Ibs) 24.52

=
o [ll[e=—_—=®&
—

*¥Based on recommended Preload.

Mounting Flange

Accessories
Mounting Flange Part #  R-71-3 180 =
Wiper Kit Part # R-71-4
6.000
.656 THRU (8X) ON 5.000B.C.D. -
Wiper Kit
3.255
Technical Info: @ T —
Bearing Mounts and SNAP RING
Machined Ends page 80-85 4.000 © CROOVE
Lubrication information ~ page 15 {
On-line Resources page 3 a 180
(configurable CAD drawings and more) WIPER

Bearing NMount
WANT NMORE PRODUCTS? ring lvioun

~ n =

R/E S Visit our web site at ,
—
®/®/® \ww.rockiordballscrew.com. Technical drawings and = P—0o
information can vary @
The specifications and data in this publication are depending on which O©~>©)|°
d Tt te and reliable and biect Bearing Mount is desired.
eemed to be accurate and reliable and are subjec See pages 80-85 for details.

to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREW
R74 - y

=—3.750

2.025 - 750

! | }
2350 2339 Rw %%% 2.465
I o

\ 3.340-12uns-3a

3.375

Ball bearing nominal diameter 5/32". Average ball quantity per nut is 477.

‘ 8.260

“o 750

3.375 4.000 3.340-12uns-3a

Mounting Flange
.770»1 -

5.360

il

.656 THRU (6X) ON 4.375 B.C.D.

Wiper Kit
2.880
1 ;
SNAP RING
GROOVE
4.000 2
\ ] 180
WIPER

o © %@D

Technical drawings and
information can vary
depending on which
Bearing Mount is desired.
See pages 80-85 for details.

2.900 x .250

DIAMETER LEAD

Standard Ball Screw

Ball Screw Part # R-74-1
Ball Nut Part # R-74-2

Dynamic Load (Ibs)
for 1,000,000 (in) 6,300

Max. Static Load (lbs) 78,800
Ballnut Weight (Ibs) 3.91
Ballscrew Weight (Ibs/ft)  15.50

Preloaded Ball Screw
Preload Screw Part # RP-74-1
Preload Ballnut Part #  RP-74-2

Dynamic Load (Ibs)**
for 1,000,000 (in) 5,670

Max. Static Load (Ibs)** 77,370
Recommended Preload 630
Maximum Preload 1,890

Ballnut Weight (Ibs) 7.82

**Based on recommended Preload.

Accessories
Mounting Flange Part #  R-74-3
Wiper Kit Part # R-74-4

Technical Info:

Bearing Mounts and

Machined Ends page 80-85
Lubrication information  page 15

On-line Resources page 3
(configurable CAD drawings and more)

WANT MORE PRODUCTS?

Visit our weh site at R/ B/S
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




AT PRE] BALL SCREW
BN k75 y

Standard Ball Screw Standard Ball Screw
Ball Screw Part # R-75-1
Ball Nut Part # R-75-2 2.760

Dynamic Load (Ibs)
for 1,000,000 (in) 32,500

Max. Static Load (Ibs) 175,000
Ballnut Weight (Ibs) 14.40
Ballscrew Weight (Ibs/ft)  14.93

3.750-12un-2
4.000 ROOT un-2a

Ball bearing nominal diameter 1/2”. Average ball quantity per nut is 112.

Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RP-75-1
Preload Ballnut Part #  RP-75-2 16625
Dynamic Load (Ibs)** 2000
for 1,000,000 (in) 29,250 o
Max. Static Load (Ibs)** 171,750 m %ﬁ ﬂ ° I[%ﬁ \\\\ m
Recommended Preload 3,250
Maximum Preload 9,750 j J
Ballnut Weight (Ibs) 28.80 4.000 4.250 —  3.750-12un-2a

*¥Based on recommended Preload.

Accessories NMounting Flange
2.030»‘ ’«

Mounting Flange Part #  R-75-3 —
Wiper Kit Part # R-75-4
‘ | 6.000

.656 THRU (8X) ON 5.000 B.C.D.

Wiper Kit
3.255
Technical Info: H
Bl:‘ Ga 0 —
Bearing Mounts and SNAP RING
Machined Ends page 80-85 4.000 © GROOVE
Lubrication information ~ page 15 <
On-line Resources page 3 - 180
(configurable CAD drawings and more) WIPER
Bearing NMount

WANT NMORE PRODUCTS?

== = o=
R/E S Visit our weh site at =

—
©®/®/® www.rockfordballscrew.com. Technical drawings and = ofP—@o
information can vary @ @
depending on which 0o 0

The specifications and data in this publication are Bearing Mount is desired. ©—0©
deemed to be accurate and reliable and are subject See pages 80-85 for details.
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREW 3.000 x .660
Ll LN 3000 x 0

Standard Ball Screw Standard Ball Screw
0312 Ball Screw Part # R-80-1
3.125 Ball Nut Part # R-80-2
1/8-27 NPT—_ _ |
r* 7o ﬂ 2000 Dynamic Load (Ibs)
i N 1 for 1,000,000 (in) 42,000

3.380

¢
) __——>

2

@/@/ Max. Static Load (Ibs) 260,000

j T : T Ballnut Weight (Ibs) 25.02

%
)
S
¢
) __——>

N

(0

S

o

- 2480 4 o6 1ounesa Ballscrew Weight (Ibs/ft) ~ 19.43
Ball bearing nominal diameter 1/2". Average ball quantity per nut is 177.
Preloaded Ball Screw Preloaded Ball Screw
Preload Screw Part # RP-80-1
19875 Preload Ballnut Part #  RP-80-2

2.000 Dynamic Load (Ibs)**
for 1,000,000 (in) 37,800

$1
%@%/@ o W%@/@/@ Max. Static Load (Ibs)** 255,800
Recommended Preload 4,200

—
pa—

\ J J Maximum Preload 12,600
4.750 5.000 4.325-12uns-3a Ballnut Weight (Ibs) 50.04

*Based on recommended Preload.

Mounting Flange Accessories
Mounting Flange Part #  R-80-3

| 2020 = =
J’ ) Wiper Kit Part # R-80-4
' ‘ | 7.375

.781 THRU (8X) ON 6.250 B.C.D.

Wiper Kit
3.750
I ) Technical Info:
( : i SNAP RING Bearing Mounts and
4.750 © GROOVE Machined Ends page 80-85
{ Lubrication information  page 15
- 160 On-line Resources page 3
WIPER (configurable CAD drawings and more)

Bearing Mount
WANT NMORE PRODUCTS?

= Visit our web site at F/B8/'S
= D) Technical drawings and www.rockfordballscrew.com. @/@/@
O O . .
information can vary
@ @ o @ depending on which

© ©° Bearing Mount is desired. The specifications and data in this publication are
\:ﬁ:J See pages 80-85 for details. deemed to be accurate and reliable and are subject

to change without notice.

www.rockfordballscrew.com —==m {1 || J/y T Lk ]




A peril BALL SCRE‘%

DIAMETER LEAD
R90/R91

Standard Ball Screw Standard Ball Screw
Ball Screw Part # RH R-90-1 12600 ‘

Ball Screw Part # LH R-91-1 ' 2 000

Ball Nut Part # RH R-90-2 3.756 484 :L

Ball Nut Part # LH R91-2 B

Dynamic Load (Ibs) 4029 3.338@
for 1,000,000 (n) 85,000 85,000 RooT

Max. Static Load (Ibs) 476,950 476,950 t

3.780

1/8-27 NPT

Ballnut Weight (Ibs) 41.07  41.07 5.875 5.497-12uns-3a
Ballscrew Weight (Ibs/ft) 3190  31.90

Ball bearing nominal diameter 5/8”. Average ball quantity per nut is 186.

Preloaded Ball Screw

Preload Screw Part # RH RP-90-1
Preload Screw Part # LH RP-91-1

Preload Ballnut Part # RH RP-90-2 w -

Preload Ballnut Part # LH RP-91-2
/ 5875 5.497-12uns-3a

Dynamic Load (Ibs)**
for 1,000,000 (in) 76,500 76,500
Maximum Preload 25,500 25,500 .
Ballout Weight (bs) 8214 8214 Wiounting Flange
2.020»1 =

Max. Static Load (Ibs)** 468,450 468,450 5.875

*¥Based on recommended Preload. —

Accessories 9.750

Mounting Flange Part #  R-90-3

Wiper Kit Part # R-90-4 T
1.031THRU (6X) ON 8.000 B.C.D.

Recommended Preload 8,500 8,500

Wiper Kit
4.775

Teqhmcal Info: Iz
Bearing Mounts and SNAP RING
Machined Ends page 80-85 5.875 e GROOVE
Lubrication information ~ page 15 g
On-line Resources page 3 - 190
(configurable CAD drawings and more) WIPER

Bearing NMount
WANT NMORE PRODUCTS?
R/E S \isit our weh site at =
©®/@®/@® www.rockfordballscrew.com. Tochnical drawings and — P—00

information can vary @ @

The specifications and data in this publication are depending on which O ©0

; L ©
. . Bearing Mount is desired.
deemed to bg accurat.e and reliable and are subject See pages 80-85 for details. \:ﬁ:J
to change without notice.

LB 1L By GE EE P e — wwwwi. rockfordballscrew.com




BALL SCREIIJ’ Keyway Nuts

KEYWAYS

R50 Keyway Ball Screw R50 Keyway Ball Screw
181 Ball Screw Part # R-50-1
' [ 3.937 —+ Ball Nut Part # R-50-2KW
N N oy~ U 042?"1"8&3%9?:)1) 9,050
2.437 1980 360 m :m 1.530 Max. Static Load (Ibs) 55,000
T o I Ballnut Weight (Ibs) 4.18

2.625

Ballscrew Weight (Ibs/ft)  5.34

Ball bearing nominal diameter 5/16”. Average ball quantity per nut is 102.

R60 Keyway Ball Screw R60 Keyway Ball Screw
Ball Screw Part # RH R-60-1
~—5.135—=— Ball Nut Part # RH R-60-2kKW
| i Dynamic Load (Ib§)
aes for 1,000,000 (in) 19,800
ROOT \ %ﬁ@m 2185 Max. Static Load (Ibs) 142,500

! b Ballnut Weight (Ibs) 8.25
Ballscrew Weight (Ibs/ft)  10.92

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 154.

R70 Keyway Ball Screw R70 Keyway Ball Screw
Ball Screw Part # R-70-1
2670 ~5.000 - Ball Nut Part # R-70-2KW
500 == Dynamic Load (Ibs)
s a3 e X EYI{E)Y 7520 for 1,0(?0,000 22,000
: N Q o N Y Max. Static Load (Ibf) 155,500
b 20 Ballnut Weight (Ibs) 12.09
4.000 Ballscrew Weight (Ibs/ft) ~ 14.98

Ball bearing nominal diameter 3/8”. Average ball quantity per nut is 186.

R80 Keyway Ball Screw R80 Keyway Ball Screw
Ball Screw Part # R-80-1
=—7.000— Ball Nut Part # R-80-2KW

i Dynamic Load (Ibs)
e 2350 LmX % % \\\\\\\‘ > 040 for 1,000,000 (n) 42,000
Max. Static Load (Ibs) 260,000
Ballnut Weight (Ibs) 25.02
Ballscrew Weight (Ibs/ft)  19.43

4750 %630

Ball bearing nominal diameter 1/2". Average ball quantity per nut is 177.

Bearing Mount
WANT NMORE PRODUCTS?

= \isit our web site at B/8/S
—
— OO Technical drawings and www.rockfordballscrew.com. @/@/@
@ @ o o information can vary
depending on which
Ol© ©1° Bearing Mount is desired. The specifications and data in this publication are
\:ﬁ:J See pages 80-85 for details. deemed to be accurate and reliable and are subject
to change without notice.

www.rockfordballscrew.com —s==m {1 || J/y T Lk ]




DIAMIETER EFFECTIVE LEAD

5/8 x .188 FREEWHEELW

Freewheeling Ball Screw R1 Freewheeling Ball Screw
Ball Screw Part # R01-1
Ball Nut Part # R01-2 REQUIRED STROKE

Dynamic Load (Ibs) ~1.875
for 1,000,000 (in) 300 375*74

1o

.5;32 “[\\r\\v\\“\t %5

/ 1.000Jl 1/8 x 23/32 PIN
1

8 x 3/4 PIN %~.938-16un-2a

Ball bearing nominal diameter 1/8”. Ball quantity per nut is 12.

Accessories R1 Mounting Flange
Mounting Flange Part #  R01-3 1/4-20 SET 400 ’{ }*
Bearing Mount Part # see pages 80-85 m
2 000
1177 THRU (4X) ON 1.625
9/16 x .200 52
DIAMETER EFFECTIVE LEAD
Freewheeling Ball Screw R2 Freewheeling Ball Screw
Ball Screw Part # R02-1
Ball Nut Part # R02-2 REQUIRED STROKE
Dynamic Load (Ibs) ~1.625
for 1,000,000 (in) 150 375-m |
P 1
470 [\ N 564
* S

/ 1.000j \1/8x5/8 PIN
/

1/8 x 5/8 PIN  ~-.938-16un-2a

Ball bearing nominal diameter 1/8”. Ball quantity per nut is 6.

Accessories R2 NMounting Flange
Mounting Flange Part #  R02-3

Bearing Mount Part # see pages 80-85 1/4-20 %m 400»{
2 000

WANT NMORE PRODUCTS? 177 THRU (4X) ON 1.625 B.C.D.
I?/E &S \isit our web site at

@®/@® vwww.rockfordballscrew.com.

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

LB 0L By GE EE P e — wwwwi. rockfordballscrew.com




=

FREEWHEELI
R4 .,aw

R4 Freewheeling Ball Screw

REQUIRED STROKE
+2.20

~—2.500
630 500 | = 760

NN
[
/1.250/ \£x7/8PIN

5/32 x 7/8 PIN  ~1.125-18unef-2a

Ball bearing nominal diameter 5/32”. Ball quantity per nut is 12.

R4 Mounting Flange
530 |=-

ot

S 7

.266 THRU (4X) ON 2.090 B.C.D.

1/4-20 SET

R6 Freewheeling Ball Screw

REQUIRED STROKE
+2.321

2712
840 625 = 980
1625/ 3/16 x 1 1/8 PIN

3/16 x 1 1/4 PIN £1.563-18un-2a

Ball bearing nominal diameter 3/16”. Ball quantity per nut is 12.

R6 Mounting Flange
630~ |=

!

3.235

il

.266 THRU (4X) ON 2.750 B.C.D.

1/4-20 SET

www.rockfordballscrew.com

3/4 x .200

DIANIETER EFFEGTIVE LEAD

Freewheeling Ball Screw
Ball Screw Part # R04-1

Ball Nut Part # R04-2

Dynamic Load (Ibs)
for 1,000,000 (in) 450

Accessories

Mounting Flange Part #  R04-3
Bearing Mount Part # see pages 80-85

DIAMETER EFFECTIVE LEAD
Freewheeling Ball Screw
Ball Screw Part # R06-1

Ball Nut Part # R06-2

Dynamic Load (Ibs)
for 1,000,000 (in) 900

Accessories

Mounting Flange Part #  R06-3
Bearing Mount Part # see pages 80-85

WANT MORE PRODUCTS?

Visit our web site at B/B/S
www.rockfordballscrew.com. @/@/@

The specifications and data in this publication are
deemed to be accurate and reliable and are subject
to change without notice.

— 1-800-475-9532




